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Part-I : General Intelligence and Reasoning

Hkkx-I : lkekU; cqf¼erk ,oa rdZ'kfDr

SSC PRE

MOCK TEST NO.

410
Direction (1-3): Select the related word/number/letter-cluster from the given alternatives.

funZs'k (1-3): fn, x, fodYiksa esa ls lacaf/r 'kCn@la[;k@v{kj&lewg dks pqfu,A

1. Court : Justice : : School : ?

vnkyr : U;k; : : fo|ky; : ?

(1) Teacher/vè;kid (2) Education/f'k{kk (3) Student/Nk=k (4) Class/d{kk

2. PZQW : NXOU :: FISK : ?

(1) EFPJ (2) FERI (3) DGQI (4) HKVM

3. 9 : 23 :: 13 : ?

(1) 31 (2) 30 (3) 21 (4) 23

Direction (4-6): Find odd word/number/letter-cluster from the given alternatives.

funsZ'k (4-6): fn, x, fodYiksa esa ls fo"ke 'kCn@la[;k@v{kj& lewg dk p;u dhft,A

4. (1) Sport : Ground/[ksy % eSnku (2) Cinema : Screen/flusek % LozQhu

(3) Drama : Stage/ukVd % eap (4) Rubber : Erase/jcj % feVkuk

5. (1) 32 - 41 (2) 62 - 44 (3) 46 - 28 (4) 33 - 56

6. (1) XYAB (2) ABDE (3) PQRS (4) LMNQ

7. Arrange the following words in the sequence as they appear in English dictionary order.

uhps fn, x, 'kCnksa dks vaxzsth o.kZekyk ds 'kCndks'k ds vuqlkj O;ofLFkr djsaA

1. RESIGN 2. REPAIR 3. RESIDUE 4. RESEARCH

5. RESCUE

(1) 4 5 3 1 2 (2) 2 5 4 3 1 (3) 2 5 4 1 3 (4) 5 4 3 1 2

Direction (8-10): Select the number that can replace the question mark (?) in the following

series.

funsZ'k (8-10): fuEufyf[kr Ja`[kyk esa iz'u fpUg (?) dh txg vkus okyh la[;k dk p;u djsaA

8. RIAHC : CHAIR : : OGNAM : ?

(1) OGNMA (2) TANGO (3) MANGO (4) ANGMO

9. PNS : OOT : : DBH : ?

(1) PPI (2) BBI (3) CCI (4) DDB

10. 91 : ? : : 64 : 54

(1) 63 (2) 101 (3) 32 (4) 70

11. Select the number that can replace the question mark (?) in the following series.

fuEufyf[kr Ja`[kyk esa iz'u fpUg (?) dh txg vkus okyh la[;k dk p;u djsaA

4

7

65 7

8

1 6

4

0 11

0

? 2

2

(1) 0 (2) 2 (3) 11 (4) 12
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12. Pointing further to a player in the stadium, Sanjana said, "He is the only son of the only son-in-
law of my grandmother's only son." How is that player's father related to Sanjana?

LVsfM;e esa ,d f[kykM+h dh vksj ladsr djrs gq, latuk us dgk] ¶og esjh nknh ds bdykSrs csVs ds bdykSrs nkekn dk bdykSrk
csVk gSA¸ ml f[kykM+h ds firk dk latuk ls D;k laca/ gS\

(A) Cousin/df”ku (B) Brother/HkkbZ (C) Uncle/pkpk (D) Husband/ifr

13. Three persons A, B and C have different amount of money. If A takes `8 from C, then A has the
equal amount of money as B. The total amount of money of A and B is `82, then how much
money does B has?

rhu O;fDr;ksa A, B rFkk C ds ikl vyx&vyx jkf'k gSA ;fn A, C ls `8 ysrk gS] rks A ds ikl B ds cjkcj jkf'k gksxhA A
vkSj B ds ikl dqy feykdj `82 gS] rks B ds ikl fdruh jkf'k gS\

(1) `45 (2) `30 (3) `44 (4) `34

14. If + stands for division;  × stands for addition; – stands for multiplication; ÷ stands for subtraction,
which of the following is correct?

;fn + Hkkx ds fy, gS;  × tksM+ ds fy,; – xq.kk ds fy,; ÷ ?kVk ds fy, gS] rks fuEufyf[kr esa ls D;k lgh gS?

(1) 15 ÷ 5 × 2 – 6 + 3 = 28 (2) 15 × 5 + 2 – 6 ÷ 3 = 56.5

(3) 15 + 5 – 2 ÷ 6 × 3 = 3 (4) 15 – 5 + 2 × 6 ÷ 3 = 41

15. Some equations have been solved on the basis of a certain operation. Find the correct answer
for the unsolved equation on that basis.

dqN lehdj.k ,d fuf'pr lafØ;k ds vk/kj ij gy fd, x, gSaA bl vk/kj ij gy u fd, x, lehdj.k ds fy, lgh mÙkj
nhft,A

If 73 * 17 = 45 and 68 * 40 = 54, then find the value of 83 * 15.

;fn 73 * 17 = 45 vkSj 68 * 40 = 54, rks 83 * 15 dk eku Kkr djsaA

(1) 49 (2) 64 (3) 69 (4) 79

16. In a certain language PROSE is coded as PPOQE, then how will LIGHT coded?

,d Hkk"kk esa PROSE dks PPOQE dksM esa fy[kk tkrk gS] rks LIGHT dks dsls dksfMr fd;k tk,xk?

(1) LIGFT (2) LGGHT (3) LLGFE (4) LGGFT

17. How many triangles are there in the given figure below?

uhps fn, x, fp=k esa fdrus f=kHkqt gSa\

(1) 34 (2) 36 (3) 30 (4) 29

18. From the given alternative words, select the word which can be formed using the letters of the
given word :

fuEufyf[kr fodYiksa esa ls og 'kCn pqfu, tks fn, x, 'kCn ds v{kjksa dk iz;ksx djds cuk;k tk ldrk gS\

CONFIGURATION

(1) CONFIRM (2) CONJUGAL (3) FINGER (4) GOAT
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19. From the Venn-diagrams given, which of the Venn-diagram correctly denotes the relation between
three groups of people, fans of tennis, cricket players and students?

uhps fn, x, osu&vkjs[kksa esa ls dkSu&lk osu vkjs[k ] Vsful ds iz'kald] fØdsV ds f[kykM+h vkSj fo|kfFkZ;ksa ds chp lEcU/ dks
lgh :i ls fu:fir djrk gS?

(1) (2) (3) (4)

20. A is located to the West of B. C is located at North in between A and B. D is exactly to the South
of B and also in line with B. In which direction of C is D located?

A, B ds if'pe esa fLFkr gSA C, A vkSj B ds chp esa mÙkj esa fLFkr gSA D, B ds Bhd nf{k.k esa gS vkSj B dh ykbu esa gSA
C dh fdl fn'kk esa D fLFkr gS?

(1) South/nf{k.k (2) South-East/nf{k.k&iwoZ

(3) West/if'pe (4) South-West/nf{k.k&if'pe
21. If in a certain code, MAHESH is written as NCIGTJ, then how NEELAM will be coded as same code

language?

;fn fdlh dwV Hkk"kk esa MAHESH dks NCIGTJ fy[kk tkrk gS] rks mlh dwV Hkk"kk esa NEELAM dks D;k fy[kk tk,xk?
(1) OGGNCO (2) OGFNBN (3) OGFNBO (4) OGHBNO

22. From the given answer figures, select the one in which the question figure is hidden/embedded.

nh xbZ mÙkj vkÑfr;ksa esa ls ml mÙkj vkÑfr dks pqfu, ftlesa iz'u vkÑfr fNih ;k fufgr gSA

Question figure/iz'u vkd`fr :

Answer figure/mÙkj vkd`fr :

(1) (2) (3) (4)

23. Which answer figure will complete the pattern in the question figure?

dkSu&lh mÙkj vkd`fr izz'u vkÑfr ds izfr:i dks iwjk djsxh?

Question figure/iz'u vkd`fr :
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Answer figure/mÙkj vkd`fr :

(1) (2) (3) (4)

24. A piece of paper is folded and cut as shown below in the question figures. From the given

answer figures, indicate how will it appear when opened?

uhps iz'u vkd`fr;ksa eas fn[kk, vuqlkj dkxt dks eksM+dj dkVus rFkk [kksyus ds ckn og fdl mÙkj vkd`fr tSlk fn[kkbZ nsxk\

Question figure/iz'u vkd`fr :

Answer figure/mÙkj vkd`fr :

(1) (2) (3) (4)

25. 60 students participated in one or more of the three competitions, i.e. Quiz, Extempore and
Debate. A total 22 students participated either in Quiz only or in Extempore only. 4 students
participated in all three competitions. A total of 14 students participated in any of the two
competitions only. How many students participated in Debate only?

60 Nk=kksa us rhu izfr;ksfxrkvksa esa ls ,d ;k vf/d esa Hkkx fy;k] vFkkZr fDtt] ,DlVsEiksj vkSj fMcsVA dqy 22 Nk=kksa us ;k rks
dsoy iz'uksÙkjh esa ;k dsoy ,DLVsaiksj esa Hkkx fy;kA rhuksa izfr;ksfxrkvksa esa 4 fo|k£Fk;ksa us Hkkx fy;kA nksuksa esa ls fdlh ,d
izfr;ksfxrk esa dqy 14 fo|k£Fk;ksa us Hkkx fy;kA dsoy okn&fookn esa fdrus fo|k£Fk;ksa us Hkkx fy;k\

(A) 30 (B) 20 (C) 40 (D) 45
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26. The Red Fort and the Jama Masjid in Delhi stand out as towering achievements of architecture

during the reign of .............

fnYyh esa yky fdyk vkSj tkek efLtn ............ ds 'kkludky ds nkSjku okLrqdyk dh fo'kky miyfC/vksa ds :i esa lkeus
vkrs gSaA

(1) Shah Jahan/'kkgtgk¡ (2) Jahangir/tgk¡xhj

(3) Aurangzeb/vkSjaxtsc (4) Akbar/vdcj

27. Who was the fifth of the ten Sikh gurus?

nl fl[k xqjQvksa esa ls ikaposa dkSu Fksa\

(1) Guru Angad/xqjQ vaxn (2) Guru Ramdas/xqjQ jkenkl

(3) Guru Arjan Dev/xqjQ vtZu nso (4) Guru Hargobind/xqjQ gjxksfcan

28. Majuli, the largest river island in the world is located in .............

ektqyh] nqfu;k dk lcls cM+k unh }hi ............ esa fLFkr gSA

(1) Arunachal Pradesh/vjQ.kkpy izns'k (2) Assam/vle

(3) Nagaland/ukxkySaM (4) Uttar Pradesh/mÙkj izns'k

29. The 'Friendship Highway' is a road that connects China to .............

^eS=kh jktekxZ* ,d lM+d gS] tks phu dks ............ ls tksM+rh gSA

(1) India/Hkkjr (2) Myanmar/E;kaekj

(3) Pakistan/ikfdLrku (4) Nepal/usiky

30. Which of the following Articles of the Constitution of India is related to the Uniform Civil Code?

Hkkjr ds lafo/ku ds fuEufyf[kr esa ls dkSu&lk vuqPNsn ;wfuiQkWeZ flfoy dksM ls lacaf/r gS\

(1) Article 44/vuqPNsn 44 (2) Article 46/vuqPNsn 46

(3) Article 45/vuqPNsn 45 (4) Article 43/vuqPNsn 43

31. ‘Dadasaheb Phalke Lifetime Achievement Award’ was recently conferred to which actress?

^nknk lkgc iQkYds ykbiQVkbe vphoesaV vokMZ* gky gh esa fdl vfHkus=kh dks fn;k x;k gS\

(1) Waheeda Rehman/oghnk jgeku (2) Madhubala/e/qckyk

(3) Madhuri Dixit/ek/qjh fnf{kr (4) Shabana Azmi/'kckuk vkteh

32. Which of the following is called the 'popular chamber'?

fuEufyf[kr esa ls fdls ^yksdfiz; d{k* dgk tkrk gS\

(1) Rajya Sabha/jkT;lHkk (2) Gram Sabha/xzkelHkk

(3) Lok Sabha/yksdlHkk (4) State Assembly/jkT; fo/kulHkk

33. Methyl propane is an isomer of which of the following?

feFkkby izksisu fuEufyf[kr esa ls fdldk ,d vkblksej gS\

(1) N-Butane/ N-C;wVsu (2) N-Pentane/ N-isaVsu

(3) N-Hexane/ N-gsDlsu (4) N-Propane/ N-izksisu

Part-II : General Awareness

Hkkx-II : lkekU; tkudkjh
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34. The process of change from liquid to gas is called .............

rjy ls xSl esa ifjorZu dh izfØ;k dks ............ dgk tkrk gSA

(1) Vaporization/ok"ihdj.k (2) Decantation/deh

(3) Condensation/la{ksi.k (4) Precipitation/vo{ksiu

35. What is the SI unit of Force?

cy dh SI bdkbZ D;k gS\

(1) Pascal/ikLdy (2) Boyle/ckW;y (3) Newton/U;wVu (4) Watt/okV

36. Name the gland that controls the function of other endocrine glands.

ml xzafFk dk uke crkb, tks vU; var%L=kkoh xazfFk;ksa ds dk;Z dks fu;af=kr djrh gSA

(1) Pancreas/vXU;k'k; (2) Adrenal gland/vf/o`Dd xzafFk

(3) Renal gland/o`Dd xzafFk (4) Pituitary gland/fiV~;wVjh xzafFk

37. The Deficiency of which nutrient causes night blindness?

fdl iks"kd rRo dh deh ls jrkSa/h gksrh gS\

(1) Vitamin K/foVkfeu K (2) Vitamin C/foVkfeu C

(3) Proteins/izksVhu (4) Vitamin A/foVkfeu A

38. The Khadi and village Industries Commission Act was passed in the year .............

[kknh vkSj xzkeks|ksx vk;ksx vf/fu;e o"kZ ............ esa ikfjr fd;k x;k FkkA

(1) 1948 (2) 1956 (3) 1965 (4) 1964

39. After which five year plan, 'The Rolling Plan' was implemented?

fdl iapo"khZ; ;kstuk ds ckn] ^n jksfyax Iyku* dks ykxw fd;k x;k Fkk\

(1) Third Plan/rhljh ;kstuk (2) Fifth Plan/ikapoha ;kstuk

(3) Seventh Plan/lkroha ;kstuk (4) Ninth Plan/ukSoha ;kstuk

40. Who was the first woman Director General of Police in Puducherry?

iqnqpsjh esa igyh efgyk iqfyl egkfuns'kd dkSu Fkha\

(1) Kiran Bedi/fdj.k csnh (2) Ashthi Tang/vkLFkk rkax

(3) Sundari Nanda/lqanjh uank (4) Kanchan Choudhary/dapu pkS/jh

41. In 2019, Kazakhstan renamed its capital Astana to ............

2019 esa] dtkfdLrku us viuh jkt/kuh vLrkuk dk uke cnydj ............ dj fn;kA

(1) Nursultan/uwjlqYrku (2) NurNazar/uwju”kj

(3) Nazarbayev/u”kjck;so (4) Nurbayev/uwjck;so

42. A word in a web page that, when clicked, opens another document is called .............

,d osc ist esa ,d 'kCn] ftl ij fDyd fd;k tkrk gS] ,d vkSj nLrkos”k [kksyrk gS ftls ............ dgk tkrk gSA

(1) Anchor/,adj (2) Hyperlink/gkbijfyad

(3) Reference/fjiQjsal (4) URL

43. What is the rank of India in the ‘Global Innovation Index 2023’?

^Xykscy buksos'ku baMsDl 2023* Hkkjr dk LFkku D;k gS\

(1) 60 (2) 50 (3) 40 (4) 30
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44. Mihira Bhoja was the ruler of .............

fefgj Hkkst ............ ds 'kkld FkasA

(1) Chola/pksy (2) Rashtrakuta/jk"VªdwV (3) Chalukya/pkyqD; (4) Pratihara/izfrgkj

45. 'Nitrous Oxide' is the chemical name of .............

^ukbVªl vkWDlkbM* ............ dk jklk;fud uke gSA

(1) Tear Gas/vkalw xSl

(2) Fire Extinguisher/vfXuk'kked ;a=k

(3) Laughing Gas/ykfiQax xSl

(4) Mosquito Repellent/ePNj ls cpkus okyh Øhe

46. Which Fundamental Right in the Indian Constitution states that all persons shall be equally
protected by the laws of the country?

Hkkjrh; lafo/ku esa dkSu&lk ekSfyd vf/dkj crkrk gS fd lHkh O;fDr;ksa dks ns'k ds dkuwuksa }kjk leku :i ls lajf{kr fd;k
tk,xk\

(1) Right to Equality/lekurk dk vf/dkj

(2) Right to Freedom/Lora=krk dk vf/dkj

(3) Right against Exploitation/'kks"k.k ds f[kykiQ vf/dkj

(4) Right to Freedom of Religion//eZ ds Lora=krk dk vf/dkj

47. How many pairs of ribs are there in human body?

ekuo 'kjhj esa ilfy;ksa ds fdrus tksM+s gksrs gSa\

(1) 13 (2) 11 (3) 12 (4) 14

48. About 70% of the sun is made up of .............

lw;Z dk yxHkx 70% Hkkx ............ ls cuk gksrk gSA

(1) Helium/ghfy;e (2) Oxygen/vkWDlhtu

(3) Carbon/dkcZu (4) Hydrogen/gkbMªkstu

49. In which year did the Indian Premier League (IPL) start?

bafM;u izhfe;j yhx (IPL) dh 'kqjQvkr fdl o"kZ gqbZ Fkh\

(1) 2008 (2) 2010 (3) 2004 (4) 2002

50. The amount of light entering into eye can be controlled and regulated by .............

vka[k esa izos'k djus okys izdk'k dh ek=kk dks ............ }kjk fu;af=kr vkSj fofu;fer fd;k tk ldrk gSA

(1) Pupil/iqryh (2) Ciliary muscles/flfyvjh ekalisf'k;k¡

(3) Cornea/us=kiVy (4) Retina/n`f"ViVy
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Part-III : Quantitative Aptitude

Hkkx&III : ek=kkRed vfHk{kerk
51. A father can do a job as fast as his 2 sons working together. If one son does the job in 3 hours

and the other in 6 hours, then find the number of hours taken by the father, to do the job alone.

,d firk mruh gh tYnh fdlh dke dks dj ldrk gS ftruh tYnh mlds nks csVs feydj dj ldrs gSaA ;fn ,d csVk 3 ?k.Vs
esa dke dj ldrk gS vkSj nwljk 6 ?k.Vs esa dj ldrk gS] rks ml dke dks djus esa firk dks fdruk le; yxsxk\

(1) 1 hour/?k.Vk (2) 2 hours/?k.Vs (3) 3 hours/?k.Vs (4) 4 hours/?k.Vs

52. The perimeter of a rhombus is 240 m and the distance between any two parallel sides is 20 m,
then find the area of the rhombus.

,d leprqHkqZt dk ifjeki 240 eh- gS vkSj fdUgh nks lekarj Hkqtkvksa ds chp dh nwjh 20 eh- gS] rks leprqHkZqt dk {ks=kiQy
Kkr djsasA

(1) 600 m2/eh-2 (2) 1200 m2/eh-2 (3) 2400 m2/eh-2 (4) 4800 m2/eh-2

53. After allowing 10% discount, a dealer wishes to sell a machine for `2700. At what price must
the machine be marked?

,d foozQsrk 10% dh NwV nsdj ,d e'khu dks `2700 esa cspuk pkgrk gSA e'khu dk vafdr ewY; D;k gksuk pkfg,?

(1) `2970 (2) `2430 (3) `2900 (4) `3000

54. ABC is a right-angled triangle with AB = 6 cm and BC = 8 cm. A circle with centre O has been
inscribed in ABC, then find the radius of the circle.

ABC ledks.k f=kHkqt gS] ftlesa AB = 6 lseh- vkSj BC = 8 lsaeh gSA ABC ds vUnj ,d vUroZ̀Ùk cuk;k x;k gS ftldk
dsUnz O gS] rks o`Ùk dh f=kT;k Kkr djsaA

(1) 3 cm/lseh- (2) 4 cm/lseh- (3) 1 cm/lseh- (4) 2 cm/lseh-

55. In a ABC, D and E are two points on AB and AC respectively such that DE || BC and DE
bisects the ABC in two equal areas, then find the ratio DB : AB.

ABC esa, D vkSj E ozQe'k% AB vkSj AC ij ,sls nks fcUnq gSa fd DE || BC rFkk DE, ABC dks nks leku {ks=kiQyksa esa
foHkkftr djrk gS] rks DB : AB dk vuqikr Kkr djsaA

(1) 2:)12(  (2) 1:2 (3) 2:1 (4) 1 : 2

56. From the peak of a hill which is 300 m high, the angle of depression of two sides of a bridge
lying on a ground are 45º and 30º and both ends of the bridge are on the same side of the hill,
then find the length of the bridge.

,d 300 eh- mQaps ioZr f'k[kj ls Hkwfe ij cus lsrq ds nksuksa ik'oZ ds voueu dks.k 45º vkSj 30º gSa vkSj lsrq ds nksuksa ik'oZ
ioZr ds ,d gh rjiQ gSa] rks lsrq dh yEckbZ Kkr djsaA

(1) 3300 m/eh- (2)
3

300
m/eh- (3) )13(300   m/eh- (4) )13(300   m/eh-

57. The angle of elevation of a ladder leaning against a house is 60º and the foot of the ladder is 6.5
metres from the house, then find the length of the ladder.

,d edku ds lkFk frjNh yxh lh<+h dk mUu;u dks.k 60º gS vkSj lh<+h dk v/ksHkkx (ikn) edku ls 6.5 ehVj nwjh ij gS]
rks lh<+h dh yEckbZ Kkr djsaA

(1) 15 m/eh- (2) 3.25 m/eh- (3)
3

13
 m/eh- (4) 13 m/eh-
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58. If cos =
5

3
, then find the value of sin .sec .tan .

;fn cos = 
5

3
gS, rks sin .sec .tan  dk eku Kkr djsaA

(1)
4

3
(2)

3

4
(3)

16

9
(4)

9

16

59. If the length of a side of the square is equal to that of the diameter of a circle, then find the ratio

of the area of the square and that of the circle. 









7

22

;fn ,d oxZ dh ,d Hkqtk dh yEckbZ o`Ùk ds O;kl ds cjkcj gS] rks oxZ vkSj o`Ùk ds {ks=kiQy dk vuqikr Kkr djsaA 









7

22

(1) 11 : 14 (2) 11 : 7 (3) 14 : 11 (4) 7 : 11

60. What is an example of an equality relation of two expressions in x, which is not an identity?

nks O;atdksa dk x esa leku lEcU/ dk mnkgj.k D;k gS] tks le:i ugha gS\

(1) (x + 2)2 = x2 + 2x + 4 (2) (x + 3) (x – 3) = x2 – 9

(3) (x + 3)2 = x2 + 6x + 9 (4) (x + 2y)3 = x3 + 8y3 + 6xy (x + 2y)

61. Find the greater number of five digits which, when divided by 3, 5, 8, 12 have 2 as remainder.

ik¡p vadksa dh og lcls cM+h la[;k Kkr dhft, ftls 3,  5, 8, 12  ls Hkkx nsus ij 2 'ks"kiQy vkrk gSA

(1) 99999 (2) 99958 (3) 99960 (4) 99962

62. Ram alone can finish a piece of work in 12 days. Ravi alone can finish the same work in 8 days.

If Ram and Ravi work together, then they will finish the work in how many days?

jke vdsys ,d dk;Z dks 12 fnuksa esa iwjk dj ldrk gSA jfo mlh dk;Z dks 8 fnuksa esa iwjk dj ldrk gSA ;fn jke vkSj jfo feydj
dk;Z djsa] rks os fdrus fnu esa ml dk;Z dks iwjk djsaxs\

(1) 10 days/fnu (2) 4 days/fnu (3) 4
4

5
 days/fnu (4) 20 days/fnu

63. Out of 600 pupils in a school 45% are boys and the rest are girls. If 20% of the boys and 30% of

girls wear spectacles, then find the percentage of the total number of pupils wearing spectacles.

,d Ldwy esa 600 Nk=kksa esa ls 45% yM+ds gSa vkSj 'ks"k yM+fd;ka gSaA ;fn 20% yM+ds vkSj 30% yM+fd;ka p'es yxkrh gSa]
rks p'es iguus okys dqy Nk=kksa dk izfr'kr Kkr dhft,A

(1) 50% (2) 25% (3) 25.5% (4) 20%

64. A hollow sphere of internal and external diameters 6 cm and 10 cm respectively is melted to

form a right circular cone of diameter 8 cm, then find the height of the cone.

ozQe'k% 6 lseh- vkSj 10 lseh- vkarfjd vkSj ckÞ; O;kl ds ,d [kks[kys xksyd dks fi?kyk dj 8 lseh- O;kl dk yac o`Ùkh; 'kadq
cuk;k tkrk gS] rks 'kadq dh mQ¡pkbZ Kkr djsaA

(1) 24.5 cm/lseh- (2) 25.5 cm/lseh- (3) 22.5 cm/lseh- (4) 23.5 cm/lseh-

65. A circle is inscribed in a square. An equilateral triangle of side 4 3  cm is inscribed in that

circle, then find the length of the diagonal of the square.

,d o`Ùk fdlh oxZ ds vUnj cuk gSA 4 3  lseh- Hkqtk okyk leckgq f=kHkqt ml o`Ùk ds vUnj cuk gS] rks oxZ ds fod.kZ dh
yEckbZ Kkr djsaaA
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(1) 4 2 cm/lseh- (2) 8 cm/lseh- (3) 8 2 cm/lseh- (4) 16 cm/lseh-

66. If 
5 3 5 – 3

2 –
5 – 3 5 3

x
+

=
+

, then find the value of x.

;fn 
5 3 5 – 3

2 –
5 – 3 5 3

x
+

=
+

 gS] rks x dk eku Kkr djsaaA

(1) 6 (2) 30 (3) 15 (4) 15

67. If the equation 2x2 – 7x + 12 = 0 has two roots  and , then find the value of 
a b

b a
+ .

;fn lehdj.k 2x2 – 7x + 12 = 0 ds nks ewy  rFkk  gSa] rks 
a b

b a
+  dk eku Kkr djsaA

(1)
1

24
(2)

7

24
(3)

97

24
(4)

7

4

68. In PQR, S and T are points on sides PR and PQ such that PQR = PST. If PT = 5 cm, PS = 3 cm
and TQ = 3 cm, then fid the length of SR.

PQR esa] S rFkk T Hkqtk PR rFkk PQ ij bl izdkj gS fd PQR = PST gSA ;fn PT = 5 lseh-] PS = 3 lseh- rFkk
TQ = 3 lseh- gS] rks SR dh yEckbZ Kkr djsaA

(1) 5 cm/lseh- (2) 6 cm/lseh- (3)
31

3
 cm/lseh- (4)

41

3
 cm/lseh-

Direction (69-71): The following pie chart shows the percentage distribution of the expenditure
incurred in publishing a book. Study the pie chart and answer the following questions.

funsZ'k (69-71): fuEu ikbZ pkVZ fdlh fdrkc ds izdk'ku ds [kpZ ds forj.k izfr'kr dks n'kkZrk gSA fn, x, ikbZ pkVZ dk
vè;;u djsa rFkk fuEu iz'uksa dk mÙkj nsaA

Expenditures (In perce-ntage)/O;; (izfr'kr esa)

     

Transport
10%

Royalty
15%

Printing
20%

Paper
25%

Binding
20%

Promotion
10%

 

10%

ifjogu vf/'kqYd
15%

NikbZ
20%

dkxt
25%

ftYncUnh
20%

foKkiu
10%

69. If 5500 copies are published and the transportation cost on them amounts to
`82500, then what should be the selling price of the book, so that the publisher can earn a profit
of 25%?

;fn 5500 izfr;ksa dks izdkf'kr fd;k x;k gS rFkk mu ij dqy ifjogu O;; ̀ 82500 gSA rks fdrkcksa dk foØ; ewY; D;k gksuk
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pkfg,] rkfd izdk'kd }kjk 25% ykHk dek;k tk lds\

(1) `180.50 (2) `182.50 (3) `183.50 (4) `187.50

70. Royalty on the book is less than the printing cost by

fdrkcksa ij vf/'kqYd] NikbZ 'kqYd ls fdruk de gS\

(1) 20% (2) 25% (3) 30% (4) 35%

71. For certain quantity of books, the publisher has to pay `30600 as printing cost, then what will
be the amount of royalty to be paid for these books?

fdrkcksa dh dqN la[;kvksa ds fy, izdk'kd dks ̀ 30600 NikbZ 'kqYd ds :i esa nsuk iM+rk gS] rks bu fdrkcksa ij fn;s tkus okyk
vf/'kqYd jkf'k fdruk gksxk\

(1) `22650 (2) `22750 (3) `22850 (4) `22950

72. A man sells two wrist watches, one at a profit of 40% and another at a loss of 40%, each have a
same selling price of `1320, then find the net profit or loss percentage.

,d O;fDr nks ?kfM+;ksa esa ls ,d ?kM+h dks 40% ds ykHk ij rFkk nwljs dks 40% ds gkfu ij csprk gS] izR;sd dk foØ; ewY;
`1320 gS] rks dqy ykHk ;k gkfu izfr'kr Kkr djsaA

(1) 25% loss/gkfu (2) 0% (3) 9% loss/gkfu (4) 16% loss/gkfu

73. Find the area of the trapezium formed by x-axis, y-axis and the lines 3x + 4y = 12 and 6x + 8y =
60.

x v{k] y v{k rFkk js[kk, 3x + 4y = 12 rFkk 6x + 8y = 60 }kjk cuus okys leyEc prqHkqZt dk {ks=kiQy Kkr djsaA

(1) 37.5 sq. unit/oxZ bdkbZ (2) 31.5 sq. unit/oxZ bdkbZ

(3) 48 sq. unit/oxZ bdkbZ (4) 36.5 sq. unit/oxZ bdkbZ

74. A and B start running at the same time and from the same point around a circle. If A can
complete one round in 40 seconds and B in 50 seconds, then how many seconds will they take
to reach the starting point simultaneously?

A vkSj B ,d gh le; ij vkSj ,d gh fcUnq ls o`Ùk ds pkjksa vksj nkSM+uk 'kq: djrs gSaA ;fn A ,d pDdj 40 lsd.M esa yxk,
vkSj B 50 lsd.M esa yxk,] rks mUgsa izkjfEHkd fcanq ij ,d lkFk igq¡pus esa fdruk le; yxsxk\

(1) 10 sec/lsd.M (2) 200 sec/lsd.M (3) 90 sec/lsd.M (4) 2000 sec/lsd.M

75. Find the total number of 3-digit numbers which are exactly divisible by 6.

6 ls iw.kZr% foHkkftr gksus okyh rhu vadksa okyh dqy la[;k,a Kkr djsaA

(1) 149 (2) 150 (3) 151 (4) 166
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Part-IV : (English Language & Comprehension)

Direction (76-78): In the following question, out of the four alternatives, choose the word

which best expresses the meaning of the given word.

76. RECTIFY

(1) SATISFY (2) CORRECT (3) REDUCE (4) PACIFY

77. VANQUISH

(1) VANISH (2) VARNISH (3) SURRENDER (4) TRAMPLE

78. Four words are given, out of which only one word is spelt correctly. Choose the correctly spelt

word.

(1) Groteasque (2) Grotasque (3) Growtesque (4) Grotesque

Direction (79-81): In the following questions, one part of the sentence may have an error. Find

out which part of the sentence has an error and choose the option corresponding to it. If the

sentence is free from error, choose the "No error" option.

79. Here is something pretty (1) /that you can (2)/wear on the party. (3)/No Error (4)

80. He was for all (1)/selling the car (2)/and buying a bicycle. (3)/No Error (4)

81. Look at what (1) / I am doing (2)/and do like I do. (3)/No Error (4)

Direction (82-83): The sentences given with blanks are to be filled with an appropriate word(s).

Four alternatives are suggested for each question. For each question, choose the correct

alternative.

82. See me tomorrow without ...........

(1) fails (2) failure (3) fail (4) failing

83. Radium .......... rays that blind the eyes.

(1) gives away (2) gives over (3) gives up (4) gives off

84. In the following question, a sentence has been given in Active/Passive Voice. Out of four

alternatives suggested, select the one which best expresses the same sentence in Passive/

Active Voice.

We have already done the exercise.

(1) Already, the exercise has been done by us.

(2) The exercise has already been done by us.

(3) The exercise had been already done by us.

(4) The exercise is already done by us.

Direction (85-86): In each of the questions, four alternatives are given for the Idiom/Phrase.

Choose the alternative which best expresses the meaning of the Idiom/Phrase.

85. To add fuel to the fire

(1) Prevent fire from dying out (2) Make the fire burn brightly

(3) Make things worse (4) Waste fuel for no reason.

86. To take to heart

(1) To be greatly affected (2) To take something heartily

(3) To strike at the heart, out of enjoyment (4) To suffer from heart disease
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87. In the following question, a sentence has been given in Direct/Indirect speech. Out of the four
alternatives suggested, select the one which best expresses the same sentence in Indirect/

Direct speech.

They said to him, “we will destroy your homestead”.

(1) They said to him they will destroy his homestead.

(2) They told him they would destroy their homestead.

(3) They told him that they can destroy his homestead.

(4) They told him that they would destroy his homestead.

Direction (88-89): A sentence/ a part of the sentence is under-lined. Four alternatives are given

to the underlined part which will improve the sentence. Choose the correct alternative and
choose the option corresponding to it. In case no improvement is needed, click the option
corresponding to "No improvement".

88. Lying in my room, the music could be heard.

(1) I could hear the music (2) The music can be heard

(3) The music can be heard by me (4) No improvement

89. Come quickly if you will catch the train

(1) you want to (2) you shall (3) you could (4) No improvement

Direction (90-91): In the following question, out of the four alternatives, select the word opposite
in meaning to the word given.

90. INTELLIGIBLE

(1) Dull (2) Foolish (3) Garbled (4) Confused

91. PHILANTHROPIST

(1) Philistine (2) Moralist (3) Spendthrift (4) Miser

Direction (92-93): The question below consists of a set of labelled sentences. Out of the four

options given, select the most logical order of the sentences to form a coherent paragraph.

92. A. They can then purchase them on subsidized rates with additional loan facilities.

B. It will import technologically advanced medical instruments and provide them to

entrepreneurs.

C. The Indian Government has announced certain facilities in the budget session.

D. This will help in strengthening the economic condition of entrepreneurs.

(1) BDCA (2) CADB (3) CBAD (4) DCAB

93. A. This is because of its aroma, flavour and variety in the market.

B. Thus, it leads to poor health and mental disorders among children.

C. Children as well as teenagers are tempted towards junk food.

D. It has no or negligible nutritional value and high content of sugar and salt.

(1) BCDA (2) ACDB (3) CADB (4) CDAB

Direction (94-95): Out of the four alternatives, choose the one which can be substituted for the

given words/sentences.

94. A large body of people playing various musical instruments.

(1) Melody (2) Harmony (3) Elocution (4) Orchestra

95. Solemn religious acts

(1) Demonstrations (2) Celebrations (3) Rites (4) Functions



Ph: 09555108888,  09555208888 14

K
D
 C

am
p
u
s

1997, GROUND FLOOR OPPOSITE MUKHERJEE NAGAR POLICE STATION, OUTRAM LINES, GTB NAGAR, NEW DELHI – 09

Direction (96-100): A passage is given with five questions following it. Read the passage carefully
and choose the best answer to each question out of the four alternatives.

The function of education is to prepare young people to understand the whole process of life.
The end of education is not merely to pass some examinations and get a job andearn one's livelihood.
If education is to make people understand life, then surely life is not merely a job or an occupation?
life is something extraordinarily wide and profound, itis a great mystery, a vast realm in which we
function as human beings. If we prepare ourselves only to earn a livelihood, we shall miss the whole
point of life. To understand lifeis much more important than to get a degree or pass an examination for
a job. Life, with all its subtleties, is such a vast expanse. It has its extraordinary beauty, its sorrows
andjoys. It also has its hidden things of the mind such as envies, ambitions, passions, fears, fulfilments
and anxieties. The birds, the flowers, the flourishing trees, the heavens, thestars, the rivers and the
fishes therein all this is life. When we are young we must seek and find out what life is all about. Thus
we cultivate intelligence with the help ofeducation. Intelligence is the capacity to think freely, without
fear, without a formula, so that we begin to discover for ourselves what is real and what is true.
Anyone who isgripped with fear will never be intelligent. Most of us have fear in one form or another.
Where there is fear there is no intelligence. Thus what education should do is help us understand the
need of freedom. Unless we are free we will not understand the whole process of living. When we are
free we have no fear. We do not imitate but we discover.

96. What is the effect of fear on humans?

(1) We understand life's great mystery.

(2) We are not able to develop our intelligence.

(3) We think freely.

(4) We see the vast expanse of life.

97. The aim of education is to make us realise the need of ...........

(1) Understanding science (2) Freedom

(3) Jobs (4) Passing examinations

98. When we are young we should ..........

(1) Seek the meaning of life (2) Study and get a degree

(3) Try for a good job (4) Study science

99. Education helps us realize the ..........

(1) Way to develop our career (2) Need for good health

(3) Meaning of fear (4) Necessity of freedom

100. The passage is about ..........

(1) Education (2) Freedom (3) Intelligence (4) Livelihood


